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MODEL QUESTION 03

1. Fill in each gap with a suitable word from the box. There are more words than necessary.

[ in | for | of | life |a | the |when |[reap | sow |
Youth is (a) — best time of (b) — . This is the time (c) — it is most important (d) — one to remember the
maxim "As you (e) —, so shall you reap." One must sow (f) — seeds of industry truthfulness, honesty and
other virtues (g) — this season to (h) — the harvest of prosperity and happiness. Whatever takes root in (i)
— man at this time lasts throughout the rest (j)—his life and moulds his future.

a d g j
b e h
c f i

2. Fill in the blanks with suitable words.

There is a close relationship between man (a) — nature. Man has established (b) — friendship with nature.
It helps us (c) — many ways. Similarly trees are closely related (d) — our life. Trees play (e) — important
role in our life (f) — economy. Trees are very (g) — to us. We get oxygen (h) — them. They are (i) — great
source of food and vitamin. They meet (j) — our local demands.

a d B i

b e h

c f i

3. Read the following table and make five sentences:

A B C
A sunset scene the sun a sea shore or of a river is very charming.
At the end of the day become coloured with a red colour.
The western sky is red with the rays of the setting sun.
The rays of the sun by the side of looks very nice.
The tops of the trees are soft and soothing.

4. Complete the following text with right forms of the verbs given in the box:

[ need [ experience | consist | save | sense | begin | decide | pick | relate [ think |
Memories are (a) —to mental records of past events. As such, they (b) — of recollections of our personal
experiences. Memory (c) — with the senses since that is how we (d) — the world. If you (e) — about it, the
memories are the remembrances of things you have (f) — in the form of touches, tastes, sounds, sights, and

smells. As you experience the world around you, your brain rain (§)—— which information (h) — to be
(i)— Instead of remembering every little thing. Your brain (j) — and chooses what is important.

a e i

b f j

c g

d h

5. Rewrite the following passage in the reported speech.
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‘Will you appear at the examination this year?’ ‘No,” ‘What!” ‘Yes,” ‘But why?’ ‘My preparation is not good,
‘What will you do now?’ ‘Nothing,” ‘Stupid,” mother said to her son.

6. Change the sentences according to directions.
(a) Despite being an independent country, Myanmar can’t be called a civilized nation. ( compound )
(b) There is no communal harmony in Myanmar. ( affirmative )
(c) The brutality of killing is so inhuman that it can’t be imagined. ( simple)
(d) The killers not only kill the innocent Rohingays but also eat their flesh. ( simple )
(e) As this country was being ruled by military rules for a long time, there is no democratic values here.
( compound )
(f) The UN membership of Myanmar should be cancelled. ( voice)
(g) It is high time for the UN to take steps against Myanmar. ( voice)

(h) If Bangladesh had not given these people any shelter, most of them would have been killed. (
compound )

(i) Helping these tortured people; Bangladesh has become a legend in the world. ( complex )

(j) No cruelty of the world was as much heinous as this operation. ( comparative)

=|>m (0 Q0 |(T(w

J
7. Complete the following sentences:

(a) An educational institution is a seat of learning. so

(b) It should be a peaceful place where

(c) But nowadays peaceful atmosphere is absent from educational institutions because

(d) The student who

(e) The sooner it can be controlled, the

8. Complete the following passage using appropriate suffix or prefix to the words.
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”(a) — (Urban) is a great problem in our small country. Due to it, (b) — (cultivate) land is (c) — (crease) day
by day. As a result, an acute (d) — (short) is seen in agricultural (e) — (produce). If we want to get rid of it,
a (f) — (plan) system should be applied. (g) (wise), our (h) — (agro) economy and urban (i) — (civil)
will face a great problem. So (j) — (initiate) should be taken.

Qo |To|w
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9. Fillin the blanks with tag questions.

(a) Everyone is nostalgicinlife, __ ?

(b) We hardly forget the goldenpast, _~_~  ?

(c) The memories of childhood are always haunting us, ?

(d) Nothing is more pleasant to a man than the sweetest memories of childhood, ?

(e) Therefore, let's practice, ?
10. Complete the passage using suitable connectors.
Story goes like (a) — . King Lear became aged, for (b) — reason he thought of giving up his throne and
dividing his kingdom among his three daughters. (c) — before doing that he wanted to know how much
they loved him. He called each of the daughters, (d) — the two daughters boasted (e) — the love for their
father. The third daughter spoke highly in favour of her true love for her father which made him furious.
a C e
b d
11. Use capitals and punctuation marks where necessary in the following text.
have you killed the rats said the mayor yes i have replied the piper give me the promised money how funny
you are said the mayor take only fifty
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